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Sr Questions Answers Choice

1 Pakistan earns its more than 60 percent foreign exchange:
A. By exporting minerals
B. By exporting hides &amp; skins
C. By exporting agriculture goods
D. By exporting rice

2 Major cause of backward ness of agriculture in Pakistan in:
A. Fast increase in population
B. Backwardness in technology
C. Unavailability of land
D. Illiteracy of the farmers

3 In the Baluchistan province, shortage of under cultivation are is due to:

A. Deficiency of resources
B. Severe shortage of water
C. Physical features of mountainous
terrain
D. Shortage of human terrain

4 In Punjab province, irrigated are is:
A. 14.87million hectares
B. 10.0million hectares
C. 12.0million hectares
D. 15.2million hectares

5 Irrigated area in Baluchistan province is:
A. 2.0 million hectares
B. 5.0million hectares
C. 0.80million hectares
D. 1.07million hectares

6 How many percentage of our cultivated area is rain-fed ?
A. 15 percent
B. 20percent
C. 30percent
D. 17percent

7 In 1995-96, Pakistan faced severe food shortage:

A. Due to small production of food
B. Due to severe droughts
C. Due to exporting large quantities
of food
D. Due to mismanagement

8 During 1998-89, Pakistan importing 4 million tons wheat:

A. Invested 2.4 billion dollars foreign
exchange
B. Expenditure was 1 billion US $
C. Small amount of foreign exchange
was invested
D. Huge foreign exchange was
invested

9 Total under-cultivated area of Pakistan is:
A. 20million hectares
B. 15million hectares
C. 22.08million hectares
D. 10million hectares

10 Total land area of Pakistan is:
A. 50 million hectares
B. 70million hectares
C. 30million hectares
D. 79.61million hectares

11 In the last 70 years, agriculture growth rate remain:
A. 5percent
B. 2percent
C. 10percent
D. 3.4percent

12 What percent of G.D.P was we earn from agriculture ?
A. 15percent
B. 30percent
C. 21percent
D. 50percent

13 In Pakistan, what percentage of labour force is working in agriculture:

A. 20 percent

B. 30percent
C. 70percent
D. 42.3percent

14 In Sub-continent, Punjab province:

A. Is not grain basket
B. Is called grain basket
C. Can be converted in to grain
basket
D. Was grain basket



D. Was grain basket

15 In 1947, at the time of independence:

A. Pakistan was producing surplus
food crop
B. Pakistan was not self-sufficient in
food crops
C. Pakistan was exporter of surplus
food crop
D. Pakistan was food importing
country crop


